

Tabulation of Bids

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Al	t Set:	Cat A	Alt Member:	
0001	151006M	1.000	3,987.32000	3,987.32	14,000.00000	14,000.00	15,360.00000	15,360.00
PERFORI PAYMEN	MANCE BOND AND T BOND	DOLL						
0004	153009P	(1)	2,500.00000	2,500.00	5,000.00000	5,000.00	1,500.00000	1,500.00
_	RT PROGRESS LE AND UPDATES	LS						
0005	154003P	(1)	175,000.00000	175,000.00	200,000.00000	200,000.00	150,000.00000	150,000.00
MOBILIZA	ATION	LS						
8000	157004M	1.000	35,000.00000	35,000.00	10,000.00000	10,000.00	500.00000	500.00
CONSTRI	UCTION LAYOUT	DOLL						
0012	159003M	30.000	1.00000	30.00	100.00000	3,000.00	95.00000	2,850.00
BREAKAV	WAY BARRICADE	U						



Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

	Line No / Item ID Item Description  Alt Set / Alt Member Quantity and Units		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member (	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0013	159006M	185.000	1.00000	185.00	0.01000	1.85	35.00000	6,475.00
DRUM		U						
0014	159009M	100.000	1.00000	100.00	20.00000	2,000.00	25.00000	2,500.00
TRAFFIC	CONE	U						
0015	159012M	1,371.000	1.00000	1,371.00	15.00000	20,565.00	12.00000	16,452.00
CONSTR	RUCTION SIGNS	SF						
0016	159027M	4.000	1,000.00000	4,000.00	5,000.00000	20,000.00	2,000.00000	8,000.00
FLASHIN	NG ARROW BOARD, 4'	X 8' U						
0017	159030M	5.000	5,000.00000	25,000.00	10,000.00000	50,000.00	4,000.00000	20,000.00
PORTAE SIGN	BLE VARIABLE MESSA	GE U						



Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	t Set:	Cat A	It Member:	
0018 159108M	2.000	39,500.00000	79,000.00	25,000.00000	50,000.00	15,000.00000	30,000.00
TRAFFIC CONTROL TRUCK MOUNTED CRASH CUSHIC							
0019 159114M	13,550.000	0.20000	2,710.00	0.01000	135.50	1.60000	21,680.00
REMOVABLE BLACK LINE MASKING TAPE, 6"	LF						
0020 159126M	53,550.000	0.20000	10,710.00	0.01000	535.50	0.23000	12,316.50
TEMPORARY TRAFFIC STF 4"	RIPES, LF						
0021 159138M	25.000	148.60000	3,715.00	250.00000	6,250.00	190.00000	4,750.00
HMA PATCH	Т						
0022 159141M	16.000	131.81000	2,108.96	200.00000	3,200.00	125.00000	2,000.00
TRAFFIC DIRECTOR, FLAG	GGER HOUR						



Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

	lo / Item ID Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001 ROADWAY		Cat Alt Set:		Cat Alt Member:			
0023	159144M	1.000	300.00000	300.00	500.00000	500.00	100.00000	100.00
EMERGI	ENCY TOWING SERV	ICE U						
0024	160004M	1.000	4,600.00000	4,600.00	4,600.00000	4,600.00	4,600.00000	4,600.00
FUEL PF	RICE ADJUSTMENT	DOLL						
0025	160007M	1.000	18,500.00000	18,500.00	18,500.00000	18,500.00	18,500.00000	18,500.00
ASPHAL	T PRICE ADJUSTMEN	NT DOLL						
0026	161003P	(1)	5,000.00000	5,000.00	5,000.00000	5,000.00	2,500.00000	2,500.00
FINAL C	LEANUP	LS						
0027	201003P	(1)	30,000.00000	30,000.00	25,000.00000	25,000.00	30,000.00000	30,000.00
CLEARIN	NG SITE	LS						



Tabulation of Bids

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0028	401009P	53,385.000	4.31000	230,089.35	4.25000	226,886.25	5.00000	266,925.00
HMA MIL	LING, 3" OR LESS	SY						
0029	401012P	1,140.000	4.31000	4,913.40	4.25000	4,845.00	5.00000	5,700.00
HMA MII 6"	LING, MORE THAN	3" TO SY						
0030	401021M	100.000	101.03000	10,103.00	60.00000	6,000.00	65.00000	6,500.00
HOT MIX	( ASPHALT PAVEME	ENT SY						
0031	401030M	5,458.000	0.01000	54.58	0.01000	54.58	0.01000	54.58
TACK C	DAT	GAL						
0032	401054M	1,654.000	104.06000	172,115.24	88.00000	145,552.00	130.00000	215,020.00
	( ASPHALT 12.5 M 6 CE COURSE	74 T						



# **Tabulation of Bids**

Page: 6

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0033 401060M	4,765.000	92.73000	441,858.45	88.00000	419,320.00	98.00000	466,970.00
HOT MIX ASPHALT 12.5 M 7 SURFACE COURSE	76 T						
0034 401108M	30.000	73.33000	2,199.90	250.00000	7,500.00	150.00000	4,500.00
CORE SAMPLES, HOT MIX ASPHALT	U						
0035 406005M	174.000	330.97000	57,588.78	250.00000	43,500.00	500.00000	87,000.00
HIGH PERFORMANCE THIN OVERLAY	N T						
0036 453006M	100.000	206.07000	20,607.00	220.00000	22,000.00	200.00000	20,000.00
FULL DEPTH CONCRETE PAVEMENT REPAIR, HMA	SY						



Tabulation of Bids

Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract ID: 13126

	Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001 ROADWAY			Cat Al	t Set:	Cat A	It Member:	
0038	602210M	54.000	395.76000	21,371.04	350.00000	18,900.00	300.00000	16,200.00
BICYCLE	SAFE GRATE	U						
0039	602213M	39.000	361.82000	14,110.98	350.00000	13,650.00	400.00000	15,600.00
CURB PI	ECE	U						
0041	610003M	18,820.000	0.30000	5,646.00	0.50000	9,410.00	0.40000	7,528.00
TRAFFIC EPOXY F	STRIPES, LONG LIF RESIN 4"	FE, LF						
0042	610009M	1,720.000	2.50000	4,300.00	3.00000	5,160.00	2.75000	4,730.00
	MARKINGS, PLASTIC	SF						
0043	610012M	325.000	25.00000	8,125.00	35.00000	11,375.00	26.00000	8,450.00
RPM, MC LENS	DNO-DIRECTIONAL,	WHITE U						

**Tabulation of Bids** 

Page: 8

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract Description: ROUTE 46 EB, LOWER NOTCH ROAD TO ROCK HILL ROAD, PAVEMENT

Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0044 610018M	110.000	25.00000	2,750.00	35.00000	3,850.00	26.00000	2,860.00
RPM, MONO-DIRECTIONAL, AMBER LENS	U						
0045 610024M	405.000	1.00000	405.00	10.00000	4,050.00	1.00000	405.00
REMOVAL OF RPM	U						
0046 612003P	10.000	78.00000	780.00	100.00000	1,000.00	60.00000	600.00
REGULATORY AND WARNIN SIGN	G SF						
Section Totals:			\$1,400,835,00		\$1,381,340,68		\$1,479,126,08

Section Totals: \$1,400,835.00 \$1,381,340.68 \$1,479,126.08



Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO		
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0002	CONSTRUCTI	ON ENGINEERIN	G Cat Al	t Set:	Cat A	It Member:	
0006	155006M	1.000	20,000.00000	20,000.00	30,000.00000	30,000.00	30,000.00000	30,000.00
FIELD O	FFICE TYPE B SET U	JP U						
0007	155024M	8.000	2,500.00000	20,000.00	3,500.00000	28,000.00	2,800.00000	22,400.00
FIELD O	PFFICE TYPE B NANCE	MO						
Secti	ion Totals:			\$40,000.00		\$58,000.00		\$52,400.00



**Tabulation of Bids** 

**Page:** 10

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member Qua	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0003 NON-PARTIC		PATING (ROADWAY) Cat Alt Set:		t Set:	Cat Alt Member:		
0002	152004P	1.000	500.00000	500.00	10,000.00000	10,000.00	8,500.00000	8,500.00
	'S AND CONTRACTOR'S CTIVE LIABILITY NCE	DOLL						
0003	152015P	1.000	500.00000	500.00	1.00000	1.00	8,000.00000	8,000.00
POLLUT	ION LIABILITY INSURANG	CE DOLL						
0037	601670M	4,580.000	5.75000	26,335.00	7.00000	32,060.00	7.00000	32,060.00
CLEANIN 24" DIAM	NG EXISTING PIPE, 12" T METER	O LF						
0040	602216M	77.000	220.00000	16,940.00	200.00000	15,400.00	375.00000	28,875.00
CLEANIN STRUCT	NG DRAINAGE TURE	U						
Secti	on Totals:			\$44,275.00		\$57,461.00		\$77,435.00



Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 EROSION CO			NTROL Cat Alt Set:			Cat Alt Member:		
0009	158030M	16.000	75.00000	1,200.00	0.01000	0.16	70.00000	1,120.00
INLET FIL	TER TYPE 2, 2' X 4'	U						
0010	158033M	48.000	75.00000	3,600.00	0.01000	0.48	90.00000	4,320.00
INLET FIL	TER TYPE 2, 4' X 4'	U						
0011	158072M	2.000	500.00000	1,000.00	2,000.00000	4,000.00	1,500.00000	3,000.00
OIL ONLY TYPE 1	Y EMERGENCY SPIL	L KIT, U						
Section	on Totals:			\$5,800.00		\$4,000.64		\$8,440.00



Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0005	GENERAL LAN	NDSCAPE	Cat Alt	t Set:	Cat A	It Member:	Member:	
0047 801006M	240.000	5.00000	1,200.00	20.00000	4,800.00	12.00000	2,880.00	
SELECTIVE THINNING	SY							
Section Totals:			\$1,200.00		\$4,800.00		\$2,880.00	



Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Line No / Item ID Item Description			(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		PH DEFINO CO INC T/A NTRCTING CO
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006	TE US 46 OVER CH ROAD)	Cat Al	t Set:	Cat A	It Member:		
0048 504037P	2,880.000	10.00000	28,800.00	15.00000	43,200.00	13.75000	39,600.00
SPRAY APPLIED WATERPROOFING MEMBRA	SF ANE						
0049 551006M	580.000	96.00000	55,680.00	125.00000	72,500.00	85.00000	49,300.00
REPAIR OF CONCRETE DE	CK, SF						
0050 555025P	130.000	385.00000	50,050.00	425.00000	55,250.00	260.00000	33,800.00
RETROFIT STRIP SEAL JOII SYSTEM	NT LF						
Section Totals:			\$134,530.00		\$170,950.00		\$122,700.00



Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING C		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0007 BRIDGE (RO VALLEY ROA			TE US 46 OVER O (CR621))	Cat Al	Set:	Cat A	It Member:	
0051	551006M	790.000	96.00000	75,840.00	125.00000	98,750.00	85.00000	67,150.00
REPAIR (	OF CONCRETE DEC	K, SF						
0052	551014P	115.000	80.00000	9,200.00	20.00000	2,300.00	70.00000	8,050.00
DECK JO	INT RESEAL	LF						
Section	on Totals:			\$85,040.00		\$101,050.00		\$75,200.00



Tabulation of Bids

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Line No / Item ID Item Description		(1) TILCON NE	W YORK INC	(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		TŘÚCKING	PH DEFINO CO INC T/A ITRCTING CO
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0008	BRIDGE (ROU ROUTE NJ 3 V	TE US 46 OVER VB)	Cat Al	t Set:	Cat A	It Member:	
0053 551006M	370.000	96.00000	35,520.00	125.00000	46,250.00	85.00000	31,450.00
REPAIR OF CONCRETE DEC	CK, SF						
0054 551014P	70.000	80.00000	5,600.00	20.00000	1,400.00	70.00000	4,900.00
DECK JOINT RESEAL	LF						
Section Totals:			\$41,120.00		\$47,650.00		\$36,350.00



**Tabulation of Bids** 

**Page:** 16

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract Description: ROUTE 46 EB, LOWER NOTCH ROAD TO ROCK HILL ROAD, PAVEMENT

	Line No / Item ID Item Description		(1) TILCON NEW YORK INC		(2) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0009	BRIDGE (ROU ENTRANCE RA 3 EB)	TE US 46 EB AMP OVER ROL	Cat Ale	Set:	Cat A	It Member:	
0055	551006M	300.000	96.00000	28,800.00	125.00000	37,500.00	85.00000	25,500.00
REPAIR ( TYPE B	OF CONCRETE	EDECK, SF						
0056	551014P	55.000	80.00000	4,400.00	20.00000	1,100.00	70.00000	3,850.00
DECK JC	DINT RESEAL	LF						
Section	on Totals:			\$33,200.00		\$38,600.00		\$29,350.00
		Contract Totals		\$1,786,000.00		\$1,863,852.32		\$1,883,881.08
	Co	ost Plus Time Totals		\$1,786,000.00		\$1,863,852.32		1,883,881.08

() indicates item is bid as Lump Sum



# **Tabulation of Bids**

Counties: PASSAIC Contract ID: 13126

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 **Project(s):** 160543

Contract Time: 12/30/13 COMPLETION DATE

	Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC			
Alt Set / Alt Member Quantity and Units		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	Set:	Cat Al	Alt Member:	
0001	151006M	1.000	10,928.00000	10,928.00	8,800.00000	8,800.00		
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0004	153009P	(1)	550.00000	550.00	3,250.00000	3,250.00		
_	ART PROGRESS ILE AND UPDATES	LS						
0005	154003P	(1)	297,024.07000	297,024.07	372,499.92000	372,499.92		
MOBILIZ	ATION	LS						
8000	157004M	1.000	4,750.00000	4,750.00	2,000.00000	2,000.00		
CONSTR	RUCTION LAYOUT	DOLL						
0012	159003M	30.000	125.00000	3,750.00	121.00000	3,630.00		
BREAKA	WAY BARRICADE	U						



**Tabulation of Bids** 

Counties: PASSAIC

Contract ID: 13126

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 **Project(s):** 160543

Contract Time: 12/30/13 COMPLETION DATE

	Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC			
Alt Se	t / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	Set:	Cat Al		
0013	159006M	185.000	65.00000	12,025.00	0.01000	1.85		
DRUM		U						
0014	159009M	100.000	17.00000	1,700.00	0.01000	1.00		
TRAFFIC	CONE	U						
0015	159012M	1,371.000	11.75000	16,109.25	17.85000	24,472.35		
CONSTR	RUCTION SIGNS	SF						
0016	159027M	4.000	850.00000	3,400.00	1.00000	4.00		
FLASHIN	IG ARROW BOARD, 4'	X 8' U						
0017	159030M	5.000	2,500.00000	12,500.00	3,000.00000	15,000.00		
PORTAE SIGN	BLE VARIABLE MESSAG	GE U						



Tabulation of Bids

Counties: PASSAIC

\_\_\_\_\_

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract ID: 13126

	Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC			
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0018	159108M	2.000	12,000.00000	24,000.00	40,000.00000	80,000.00		
	CONTROL TRUCK WED CRASH CUSHION	/ITH U						
0019	159114M	13,550.000	1.70000	23,035.00	1.65000	22,357.50		
	BLE BLACK LINE TAPE, 6"	LF						
0020	159126M	53,550.000	0.23000	12,316.50	0.22000	11,781.00		
TEMPOR 4"	ARY TRAFFIC STRIP	ES, LF						
0021	159138M	25.000	100.00000	2,500.00	100.00000	2,500.00		
HMA PAT	СН	Т						
0022	159141M	16.000	80.00000	1,280.00	103.20000	1,651.20		
TRAFFIC	DIRECTOR, FLAGGE	R HOUR						
IKAFFIC	DIRECTOR, FLAGGE	IN HOUR						



# **Tabulation of Bids**

Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract ID: 13126

	lo / Item ID Description		(4) INTERCOU ASSOC		(5) CRISDEL (	GROUP, INC		
Alt Se	t / Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	ROADWAY	Cat Alt		Set:	Cat A	It Member:	
0023	159144M	1.000	285.00000	285.00	275.00000	275.00		
EMERG	ENCY TOWING SERVIC	Ē U						
0024	160004M	1.000	4,600.00000	4,600.00	4,600.00000	4,600.00		
FUEL PF	RICE ADJUSTMENT	DOLL						
0025	160007M	1.000	18,500.00000	18,500.00	18,500.00000	18,500.00		
ASPHAL	T PRICE ADJUSTMENT	DOLL						
0026	161003P	(1)	6,000.00000	6,000.00	5,000.00000	5,000.00		
FINAL C	LEANUP	LS						
0027	201003P	(1)	9,000.00000	9,000.00	30,000.00000	30,000.00		
CLEARII	NG SITE	LS						
0028	401009P	53,385.000	4.65000	248,240.25	4.85000	258,917.25		
HMA MII	LLING, 3" OR LESS	SY						



Tabulation of Bids

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Line No / Item ID Item Description		(4) INTERCOU ASSO		(5) CRISDEL (	GROUP, INC		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	Set:	Cat A	Alt Member:	
0029 401012P	1,140.000	5.15000	5,871.00	7.50000	8,550.00		
HMA MILLING, MORE THAN 3" 6"	TO SY						
0030 401021M	100.000	75.00000	7,500.00	101.30000	10,130.00		
HOT MIX ASPHALT PAVEMEN' REPAIR	T SY						
0031 401030M	5,458.000	2.75000	15,009.50	0.01000	54.58		
TACK COAT	GAL						
0032 401054M	1,654.000	92.00000	152,168.00	100.45000	166,144.30		
HOT MIX ASPHALT 12.5 M 64 SURFACE COURSE	Т						
0033 401060M	4,765.000	94.00000	447,910.00	86.95000	414,316.75		
HOT MIX ASPHALT 12.5 M 76 SURFACE COURSE	Т						



# **Tabulation of Bids**

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Ext Amount



# Tabulation of Bids

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Line No / Item Item Descript			(4) INTERCOU ASSOC		(5) CRISDEL	GROUP, INC		
Alt Set / Alt M	ember Quanti	ity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	001 R	OADWAY		Cat Alt	t Set:	Cat A	It Member:	
0041 61000	03M	18,820.000	0.34000	6,398.80	0.33000	6,210.60		
TRAFFIC STRIP EPOXY RESIN 4	PES, LONG LIFE, 1"	LF						
0042 61000	09M	1,720.000	2.85000	4,902.00	2.75000	4,730.00		
TRAFFIC MARK THERMOPLAST		SF						
0043 6100	12M	325.000	28.00000	9,100.00	27.50000	8,937.50		
RPM, MONO-DII LENS	RECTIONAL, WHITE	U						
0044 6100	18M	110.000	28.00000	3,080.00	27.50000	3,025.00		
RPM, MONO-DII AMBER LENS	RECTIONAL,	U						
0045 61002	24M	405.000	8.00000	3,240.00	6.64000	2,689.20		
REMOVAL OF R	RPM	U						

**Tabulation of Bids** 

Page: 24

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract Description: ROUTE 46 EB, LOWER NOTCH ROAD TO ROCK HILL ROAD, PAVEMENT

Contract 2000 inputorin		1211101011110	TIE TO TROUTE				
Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY	Cat Alt		t Set: Cat A		It Member:	
0046 612003P	10.000	55.00000	550.00	39.60000	396.00		
REGULATORY AND WARNIN SIGN	G SF						

**Section Totals:** \$1,481,922.37 \$1,630,368.50



# **Tabulation of Bids**

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

COLL	act bescription.	KOOTE 46 EB, LOV	VERTION	U TO ROOKT	ILL ROAD, I AV			
Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0002	CONSTRUCTION	ON ENGINEERIN	G Cat Alt	Set:	Cat A	It Member:	
0006	155006M	1.000	17,000.00000	17,000.00	30,000.00000	30,000.00		
FIELD C	FFICE TYPE B SET I	JP U						
0007	155024M	8.000	3,750.00000	30,000.00	4,000.00000	32,000.00		
FIELD C	FFICE TYPE B NANCE	MO						
Sect	on Totals:			\$47,000.00		\$62,000.00		



**Tabulation of Bids** 

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Line No / Item ID Item Description			(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC			
Alt Set / Alt	Member Quant	ity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0003 N	ON-PARTICII	PATING (ROADWA	AY) Cat Alt	Set:	Cat A	It Member:	
0002 152	2004P	1.000	3,882.63000	3,882.63	3,400.00000	3,400.00		
OWNER'S AND PROTECTIVE INSURANCE	D CONTRACTOR'S LIABILITY	DOLL						
0003 152	2015P	1.000	500.00000	500.00	13,150.00000	13,150.00		
POLLUTION L	IABILITY INSURANCE	DOLL						
0037 601	1670M	4,580.000	4.25000	19,465.00	4.00000	18,320.00		
CLEANING EX 24" DIAMETER	KISTING PIPE, 12" TO R	LF						
0040 602	2216M	77.000	255.00000	19,635.00	247.50000	19,057.50		
CLEANING DR STRUCTURE	RAINAGE	U						
Section To	otals:			\$43,482.63		\$53,927.50		



# **Tabulation of Bids**

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract Description: ROUTE 46 EB, LOWER NOTCH ROAD TO ROCK HILL ROAD, PAVEMENT

	Contract Description. Root E 40 EB, EGWER NOTOF ROAD TO ROOK FILE ROAD, 17 WEMENT								
Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC					
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION	<b>I:</b> 0004	EROSION CON	NTROL	Cat Alt	Set:	Cat A	It Member:		
0009	158030M	16.000	169.00000	2,704.00	113.00000	1,808.00			
INLET FIL	TER TYPE 2, 2' X 4'	U							
0010	158033M	48.000	177.00000	8,496.00	193.00000	9,264.00			
INLET FILT	TER TYPE 2, 4' X 4'	U							
0011	158072M	2.000	500.00000	1,000.00	400.00000	800.00			
OIL ONLY TYPE 1	EMERGENCY SPIL	L KIT, U							
				<b>#</b> 40.000.00		<b>044.070.00</b>			

**Section Totals:** \$12,200.00 \$11,872.00



Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract Description: ROUTE 46 EB, LOWER NOTCH ROAD TO ROCK HILL ROAD, PAVEMENT

Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	GENERAL LAN	IDSCAPE	Cat Alt	Set:	Cat A	It Member:	
0047 801006M SELECTIVE THINNING	240.000 SY	8.00000	1,920.00	36.50000	8,760.00		
Osation Tatalan			£4.000.00		Φ0.700.00		

**Section Totals:** \$1,920.00 \$8,760.00



# **Tabulation of Bids**

Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Con	Contract Description: ROUTE 46 EB, LOWER NOTCH ROAD TO ROCK HILL ROAD, PAVEMENT							
Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC				
Alt S	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006 BRIDGE (ROU LOWER NOTO		TE US 46 OVER H ROAD)	Cat Alt	Set:	Cat A	It Member:		
0048	504037P	2,880.000	8.75000	25,200.00	10.15000	29,232.00		
_	APPLIED PROOFING MEMBRA	SF NE						
0049	551006M	580.000	108.00000	62,640.00	96.50000	55,970.00		
REPAIR TYPE B	R OF CONCRETE DEC	K, SF						
0050	555025P	130.000	436.00000	56,680.00	506.00000	65,780.00		
RETRO SYSTE	FIT STRIP SEAL JOIN M	T LF						
Sec	tion Totals:			\$144,520.00		\$150,982.00		



**Tabulation of Bids** 

Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract ID: 13126

	p	NOOTE 40 EB, EOV			,			
Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC				
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0007	BRIDGE (ROU VALLEY ROAD	TE US 46 OVER (CR621))	Cat Alt	Set:	Cat A	It Member:	
0051	551006M	790.000	108.00000	85,320.00	99.20000	78,368.00		
REPAIR TYPE B	OF CONCRETE DEC	cK, SF						
0052	551014P	115.000	35.00000	4,025.00	37.00000	4,255.00		
DECK JO	DINT RESEAL	LF						
Section	on Totals:			\$89,345.00		\$82,623.00		



**Tabulation of Bids** 

Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract ID: 13126

Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0008	BRIDGE (ROU ROUTE NJ 3 V	TE US 46 OVER VB)	Cat Alt	Set:	Cat A	It Member:	
0053	551006M	370.000	108.00000	39,960.00	93.00000	34,410.00		
REPAIR (	OF CONCRETE DEC	K, SF						
0054	551014P	70.000	34.00000	2,380.00	37.00000	2,590.00		
DECK JC	OINT RESEAL	LF						
Section	on Totals:			\$42,340.00		\$37,000.00		



# **Tabulation of Bids**

Counties: PASSAIC

Letting Date: May 30, 2013 District(s): N1

Call Order: 126 Project(s): 160543

Contract Time: 12/30/13 COMPLETION DATE

Contract ID: 13126

Contract Description: ROUTE 46 EB, LOWER NOTCH ROAD TO ROCK HILL ROAD, PAVEMENT

Line No / Item ID Item Description		(4) INTERCOUNTY PAVING ASSOC LLC		(5) CRISDEL GROUP, INC				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0009	BRIDGE (ROU ENTRANCE RA 3 EB)	TE US 46 EB AMP OVER ROL	Cat Alt ITE NJ	Set:	Cat A	It Member:	
0055	551006M	300.000	108.00000	32,400.00	111.00000	33,300.00		
REPAIR (	OF CONCRETE	DECK, SF						
0056	551014P	55.000	34.00000	1,870.00	37.00000	2,035.00		
DECK JC	OINT RESEAL	LF						
Section	on Totals:	_		\$34,270.00		\$35,335.00		
		Contract Totals		\$1,897,000.00		\$2,072,868.00	·	<u> </u>
	Cost Plus Time Totals			\$1,897,000.00		\$2,072,868.00		

() indicates item is bid as Lump Sum

**Vendor Ranking** 

Page: 1

Call Order: 126 Contract ID: 13126 Counties: PASSAIC

Letting Date: May 30, 2013 10:00am District(s): N1

Contract Time: 12/30/13 COMPLETION DATE

Contract Description: ROUTE 46 EB, LOWER NOTCH ROAD TO ROCK HILL ROAD, PAVEMENT Project(s): 160543

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	T4306	TILCON NEW YORK INC	\$1,786,000.00	100.00%
2	N2943	NEW PRINCE CONCRETE CONSTRUCTION CO., INC.	\$1,863,852.32	104.36%
3	D2206	JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	\$1,883,881.08	105.48%
4	15980	INTERCOUNTY PAVING ASSOC LLC	\$1,897,000.00	106.22%
5	C7444	CRISDEL GROUP, INC	\$2,072,868.00	116.06%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,